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1. T A3 Fe yumelt §, “LapToP” HY ‘OEULLY’ & FT |
fr@t &iam 81 4t ‘moBILEe & i PC HT 82 In a certain
coding system “LAPTOP” is written as ‘OEUUUU’. What is the
code for ‘MOBILE’?
(a) PSGHAJ  (b) OUEOOI
(c) OUEEOI  (d) PSGAHJ
2. 39 faped &1 999 BV, & R ug | I yErR
Hafd B, for YR gaRT Ue, Ugd Ug | Hala B
Select the option that is related to the third term in the same
way as the second term is related to the first term.
“PHONE: ENOHP: : RAAM:?
(a) GGDP  (b) MARA
(c) MAAR  (d) TDDP

3. fagffal 9t e dfeq §, 9 arff e 9 14 § WM SR
m‘d’riﬁvﬁ 18 AR @I 3t Al I ifF & Sro A |
o1 o1, Tt SRi SR | IHST RIF T AT2(AT ARG fremesf
IR B 3R 9 '&) In a row of students Tanu was standing
14th from the left end and 18th from the right end. If Raam was
standing exactly in the middle of the row, what was his position
from the left end? (Assume students were facing the North)
(a) 16@7 16™ (b) 15di 15th
(c) 1790 17" (d) 1874 18th
4. Frafafaa g & #19 @ e vl (7) # ufawfta
P DAl 82
Select the number that can replace the question mark (?) in the
following series.
17, 25,32, 37, 47, ?
(a) 57 (b) 58
(c) 60 (d) 61
5. 39 TYE &1 99 BIfog, orad Jemt St yeR Hafta
2, oy voR PafifEd awe St seme {1
Select the set in which the numbers are related in the same way
as are the numbers of the following set.

(14, 31, 95)
(a) (8,19,61)  (b) (10,23, 71)
(c) (5,13,40)  (d) (7,23, 49)

6. 39 fAPey &1 9= FIoE, o d R Ug 9 I UHR
Haiftra 3, oy 7R geRT ve, ued ug A Wefa 81

Select the option that is related to the third number in the same
way as the second number is related to the first number.
9:162::16:?

(a) 256 (b) 512

(c) 480 (d) 320

7. TP fAf¥a T YT § ‘CoFFEE’ BT 33018242530’ b U |
feran wiman 31 St e TaT A ‘appa’ B f5 U A Rorar
EIGIE]

In a certain code language ‘COFFEE’ is written as ‘33018242530’.
How is ‘ADDA’ written in that code language.

(a) 1441  (b) 18124

(c) 18152 (d) 14141

8. ‘Birds’ FLOCK’ & Waf¥d 8, I UBR ‘FIsH’,* |
'\‘Hﬁﬁ%l ‘Birds’ is related to ‘FLOCK’ in the same way as ‘FISH’
is related to ‘ !

(a) COLONY (b) PEAFOWL

(c) PARLIAMENT (d) SCHOOL

9. fFafefaa gfie:u &, R e a1 #) 98 791 & fae
fore ) forg @) emuw A uRkafda #A @1 smawgear g1 fig
Y fasedi & fag &1 99+ S|

In the following equation, two signs need to be interchanged to
make the given value correct. Choose the signs from the given
alternatives.

63x3+6+3-8=121

(a) + 3%?- +and- (b) + GﬁTx +andx

(c) xGﬁT+ xand+ (d) -GﬁT+ -and+

%o. (i) M,N,0,P,q 3 R Ufd A gfér o1 3R S T TS

|
i)M, QP T A TR ARG
(iii) 0 TFRT & TH SR A MY ™M W |
()N, STM IR PFITHAE, RF I A TR VAW
(v) e BR R R B
Fafrfead I s a2
(i) M,N,0,P,Q and R are standing in row facing south.
(ii) M is third to right of Q.
(iii) O is fourth from one end of the row.
(iv) N who is in between M and P, is third to the left of R.
(v) P is at the left end.
Which of the following is true?
(a) O,R \’rﬁTQ%Eﬁaﬁ% Oisin between R and Q
(b) O, N & &mﬁwww%l O is second to the eight of N
(c) M, Hﬁﬂmﬁ@@m%l M is at one of extreme ends.
(d) M, O%%W%I M is immediate left of O.
11. I I ANT FT T Fiforg, St g 7w it &1 e
wfafafira sar g
Select the Venn diagram that best represents the given set of
class
INDIA, Jammu and Kashmir, Ladhakh, Srinagar

@ ) @

12. ﬁaﬁﬁamﬁaﬁﬂmaﬁwum(?)aﬁ
AfeeuTid R ghar 82

Select the letter-cluster that can replace the question mark (?) in
the following series.

UF, OL, IR, ?, AZ

(a) cx (b) DW

(c) EV (d) FU

13. 39 fAPew &1 9= Fifvg, it AR ug 9 St R
Haiftra B, oy 7R gIRT v, ued U A Wefa 31
HIYRUT 9 : ASTH FARTSS: : 9 : ?

Select the option that is related to the fourth term in the same
way as the second term is related to the first term.

Common salt: Sodium Chloride: : Water: ?

(a) 31_5:6'@7717‘[ &mﬁg Dihydrogen oxide

(b) m?@? Sodium nitrate

() Wﬂm Calcium chloride

(d) E@Wﬂm Hydrogen peroxide

14. FFofafeaa @ & uafig (2) F ®=_E ® $i9 A @
wfaeTia &) o wdl 82

Select the number that can replace the question mark (?) in the
following series.

103, 108, 118, ?, 153

(a) 123 (b) 128

(c) 135  (d) 133

Helpline No.

- 9415728437 , 9335615537 Page 2




2 IDEAL wstituTE

T AD! - R eag (A R, Bl SRR peag A g cal v
U Geag U g, U D & WA feg U e d
5C (;—4> B21D9AS=?

IfAis coded as'- Biscoded as '+, Cis coded as '+, D is coded as ' then

14
SC(E)BZID9A5=?

(a) 1 (b) O
(c) 3 (d) -2
16. Frafafad fawe @ qu W@ grd S|

Find the missing number from the below options.

11 5 96
6 7 13
2 4 ?
(a) 8 (b) 11

(c) 14 (d) 12

17. 171 arpfa & Hry=i 3t T $t T Fifw|

Count the number of triangles in the given figure.
NN N
K X
==y, \\ //#[‘—\\

(a) 45 (b) 48
(c) 47  (d) 44
18. U% U &1 &) fRufaat = =il it g1 afe snuR &
;ﬂgw'am'ﬁ,a}ﬁaﬁf@aﬁﬁaﬁqmﬁﬁaw

Two position of a dice is shown below. If ‘rectangle’ is on the
bottom surface then which of the following opposite to it.

(a) O (b) O 0l— A

19. Ife TH qUdor FH npfa F IRl SR waT wraT ], @
ﬁa%r@aﬁﬁﬁqwﬁwawﬁ,aﬂﬂ%amaﬂw
Bfag?

If a mirror is placed on the right side of image, then which of the
answer figures is the right image of the given figure?

(j\d IENIEANE:

(d)
20. m%wg&%aﬁnﬁam% 3R uy ampfa &
TR 718 epfa & SMUR Uw fHar wirar 81 @) SR F
WA TR & 77 IR i) A | freass S e am?

I\

A piece of paper is folded and punched as shown below in the
question figures. From the given answer figures, indicate how it

will appear when opened?
ikl Wl bbbl
e |1
" Fs ¢ I I 1
| . 1
| | |

(a) (b) (c) (d) ‘:' ~o

21. &1 TE IW AP A IF TP &1 g4 Piforg, forad uy
rpfa fodi/ARa

From the given answer figures, select the one in which the
question figure is hidden/embedded.

) (c) I/ (d) \/
aﬁq@ﬁw\mﬁ?f traranq"ﬁﬁ?maﬁwﬁﬂv

Wh|ch answer figure will complete the pattern in the question
figure?

(X)

(a) (b) (d)
23. wawhmmaﬂﬁm Gl‘rﬁ;ri%@aan;ﬁrq@mﬁ
3T TYTH TR 3TET?

Select the figure that will come next in the following figure

o o o

Y
(a) % (b) % (c) % (d) ri:

24. 99 FYFT & 916 I9 fAewd L, 3R m R e @1 I
T | 3T g1 R WY U fiT T HYH S I HEAT R
3N fAyofg difdre 6 faan man 1= w1 fased, e me sy @
fAf3a ¥ F Nerar o 9oar @ 3R U S<R & [t
Fiferg|

DY:-

Tt g%, 3-GP(e-book) &

50 IR, 09 8

%S U, 3-§P (e-book) &

forepd .

n.gd R-9P(e-book), o %
I11.YS 3-GP(e-book), TR TS @
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Three statements are given followed by Three conclusions, 1l
and Ill. You have to consider the statements to be true, even if
they seen to be at variance from commonly known facts. You
have to decide which of the given conclusions can definitely be
drawn from the given statements. Indicate your answer.

All books are e-book

Some pencil are pen

Some pen are e-book

Conclusions:

I. some Pencil are books.

Il. All e-book are pen

lll. No. e-book is pencil.

(a) FHad ey | 3R I WW% only conclusions | and Il
follow

(b) Joft Freep WW% All conclusions follows.

(c) FHad e 11 3R i WW% only conclusions Il and
1l follow.

(d) ﬁgﬁ@ﬁmﬁm% No conclusion follow.

25. i@y R weEl & @ &9 e FAfta voR @ T
W%ﬁ?@ﬁ-ﬁ%l ?ﬁﬁﬁmml There of the
following four words are alike in a certain way and one is
different. Pick the odd one out.

(a) 'qfﬁl'ER Manipur (b) EIUIRE] Nagaland

(c) ﬁ'ﬂﬂ Tripura  (d) STRIGES Uttarakhand

26. 3RNP A 30 Rramaal § o a W R/ a9 &1
aﬁ'@%m%a's' %I The name by which Ashoka
is generally referred to in his inscriptions is

(a) Fhdd! Chakravarti

(b) %Iﬁéa Dharmadeva

(c) YHBI Dharmakirti

(d) e Piyadassi

27. Riy ol Wi o BTl XAl A1 Indus
Valley Civilization was a age civilization.

(a) TSI silver (b) T Tin

(c) WUl Gold (d) HIY Bronze

28. fPUd TAHTE ¥ AR 7 YR W AHHYT fHar AT
During whose reign did Timur invaded India?

(a) WW Firoz Tughlaq

(b) SEAId Sl Bahlol Lodi

(c) WW%WW Nasir-ud-Din Mahmud Shah

(d) 3TATIEA RSt Allauddin Khilji

20. {59 TaR SRA I YRA ¥ SRS H1 Rrem &1 wreaw
g9 P1 fAvfg fdar? which Governor General decided to
make English as the medium of instruction in India?

(a) 1S IR Lord Wellesley

(b) FI%BT%T[ Lord Hardinge

(c) F‘Iﬁgﬂaﬁﬁ Lord Dalhousie

(d) aﬁﬁmw Lord William Bentinck

30. qdl foumera &t aeredt # fRya, 798 wgia Seam____
Wﬁﬁﬁ‘f%’ Nameri National Park, located in the foothills of
the Eastern Himalayas, is situated in the state of

(a) ﬁ'ﬂ?‘f Tripura (b) 3HH Assam

(c) EIUIRE] Nagaland (d) IIﬁIT Manipur

31. I TR URd & 59 Isg & TAT ST € Dree
festival is celebrated in which state of India

(a) RAfGHT sikkim

(b) =131 I Meghalaya

(c) SNUIG Telangana

(d) 3RBUMA USTT Arunachal Pradesh
32. @ &t & da B g8 U 81 The

distance between the two latitudes is approximately

(a) 111 HId 111 miles (b) 121 HId 121 miles
(c) 111 fHHT 111 kms (d) 121 fHH 121 kms
33. AR Usd ® {5y U8 & SUUE! 9! WEn 9ad A 72
Which planet in the Solar System has the most number of
moons?
(a) m Jupiter (b) I saturn
(c) HTd Mars (d) ﬁ'q?ﬁlﬁ Neptune
34. HIUAYRT STayuTd fpg I w=® U9 %? Kapildhara Falls
is situated on which river?
(a) AUt Tapi  (b) YRIGCH Sharavati
(c) :lﬁET Narmada (d) zma'cﬁ Indravati
35. "UEATH" AP T HURd & 59 Ty | walk@ &2
"Yakshagana" folk dance is associated to which Indian state?
(a) BT Kerala
(b) Plcd Karnataka
(c) AMEETg Tamil Nadu
(d) 3MY TS Andhra Pradesh
36. YRAW AU &1 HI9 A1 U g6 | Tafta @2
Which part of Indian Constitution deals with Elections?
(a) HTTXII PartXIl  (b) HFTXII Part Xl
(c) HITXIV Part XIV (d) HFTXV Part XV
37. HTWTS TR UR Il & T & WA Pt ofid & fore
1948 H WYHR gRT Y ugal SRt Y sremeran foram &t
A}? The first commission appointed by the Government in 1948
to examine the case for the reorganisation of states on linguistic
basis was headed by
(a) maﬁj\ Justice Wanchoo
(b) m@mw Justice M C Mahajan
(c) m@% &YX Justice S K Dhar
(d) Bﬂﬂaaﬁﬁaﬁ's‘qﬁ None of the above

. I 1 I35, RISIRL 3R GERwifa R & &g & faudia
TqaY El"ﬂ' a'flﬁ?ﬂ %? Which curve shows the inverse relationship
between unemployment and inflation rates -
(a) &W{%W Supply curve
(b) SHREM % Indifference curve
(c) GHEI'WW IS curve
(d) frfog o Phillips curve
39. I SUBRVI ST ATH FA13T, Sl §aT P T H WIUAT &,
DhodIdl %I The instrument that
measures the wind speed is called

(a) Q:‘ e} Anemometer
(b) 3NsiHier odometer

(c) AR Manometer
(d) éz HleX Barometer

40. TEETHYY] &S HRUI @R HT A | The

value of acceleration due to gravity (g)
(a) %W@Tﬁﬂﬂmﬁ ?;I,EﬁtR HYE AT E is greater at the

poles than at the equator

(b) ‘lf:[?ﬂ%@ﬂﬁﬂ?‘l?ﬂf[ @Wﬂ%ﬁ?ﬂ% is lesser at the poles
than at the equator

(c) Gl&mr ‘ﬂ’dﬁfﬁtﬂﬁﬁﬁ gd W e BIT § is greater at
the North pole than at the South pole

(d) Gﬂﬁgaaﬁ‘g’amﬁaf\&m '{{aq?\?‘lﬁﬁ??ﬁ[% is greater at

the South pole than at the North pole
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41. TS ATE TSI BT T A1 FT 82 What is the

common name of Oil of Vitriol?

(a) WW Sulphuric acid

(b) ClEEIRC IR Washing Powder

(c) Q?ﬁ'a:l Acetone

(d) W@WW Isopropyl alcohol
42, Eﬂﬁ?w_%l Theinsulinisa___

(a) BTJ:IT:T Harmone
(b) a’ﬁ@g Fatty acid
(c) Wﬁﬁg Glycolipid
(d) WA Protein
43. 991 9T UoisH arsuw, Fafafaa & @ f5as grr
arfad 3.1?“ % The fat digesting enzyme Lipase is secreted by
which of the following
(a) gab Kidneys
(b) GWZITQ'I'C[ Pancreas
(c) a:cﬁsﬁa Large Intestine
(d) IPd Liver
44, WWWW_%I Sugarcaneis atypeof
(a) AdT Creeper (b) ﬁl_br Tree
(c) ETI@ Shrub  (d) YT Grass
45. ‘Finding the Gaps’ Y¥dP #) f5d U A fer@r? which
umpire has written the book ‘Finding the Gaps’?
(a) Uid fa& Paul Wilson
(b) W?‘ﬁw Simon Taufel
(c) 3T B8R Aleem Dar
(d) WW Kumara Sangakara
a6. Frufafaa & F fFaA, af 2019 A pmesy & dga 31 A
J=dH 8P #1 ?Wl'g ETﬁWI' @1 %? Which among the
following has achieved the highest road length in the country
under PMGSY in the year 2019?
(a) HERTY Maharastra
(b) G-F\FUTIEIFTEI%QT Arunachal Pradesh
(c) IISTRITF Rajasthan
(d) WSﬁTW Jammu & Kashmir
47. et F g F F0 H fFE 0y @ 82 Who has
taken oath as the Prime Minister of Sri Lanka?
(a) oty DT Sajith Premadasa
(b) TTISaaT IoTaTer Gotabhaya Rajapaksa
(c) A< o9& Mahinda Rajapaksa
(d) e R Maithripala Sirisena
WP @ feaw yfaad s #ATT WAt 82 National
Sports Day 2019 is observed every year on?
(a) 28 3TXd 28 August
(b) 27 3R 27 August
(c) 30 3R 30 August
(d) 29 3R 29 August
49. 3d 3gHE 3ell, FoE 9w Wifd RWHR 2019 |
gt farar wan ], fhw 3= & wurwst 82 Abiy Ahmed Ali

who has been awarded the Nobel Peace Prize for 2019 is the
Prime Minister of which country?

(a) Eﬁﬁtﬂ Eritrea (b) ‘s’%hﬁtn Ethiopia
(c) T Kenya  (d) PEITSAT Combodia

0. R IR 3Rfdg digs B YRA &I =
WW%Wﬁﬁ'ﬁﬁﬁTﬂTW YTl Justice Sharad Arvind

Bobde was appointed as the Chief Justice of India.
(a) 4547 45"  (b) 4874 48th

(c) 4947 49™  (d) 474l 47th

51. 80 faenf¥al ¥t e wen ot oI 3Ry 9.72 99 31 T
faenfiat &1 45% @il ok Av aF 71 afe asa! Ft
Ia oy FT ASfPal P ST Mg ¥ SgUE 97 B, @
qSHI DI 3NTd ang(aq’f H) F19 BIVMEI Average age of a
class of 80 students is 9.72 years. 45% of total students are girls
and remaining are boys. If ratio of average age of boys to girls is
9:7, then find average age of boys (in years)

(a)11.7 (b) 12.6

(c) 10.8 (d) 9.8

52. T fAfda 4= o1 ves 3@ ) wR o fasan stran
2, ol aifff =u & "aifora gt 81 6 aut A Rra=n MAye=
I gYaT 8, IR ut ® U fIYes &7 1.1236 AT 7, o X
ufa=ra fear %? A certain amount invested at a certain rate,
compounded annually grows to an amount in six years, which is
a factor of 1.1236 more than to what it would have grown in four
years. What is the rate percentage?

() 7.1 (b) 6

(c) 8 (d) 12.1
U513+ 27 412-5T2+ (18 + TA1S) 79 77 474
(a) % (b) E (C) 73 E

54, T FAYSr § Sy & 18%aﬁq@3ﬁ'\fﬁ1§ﬁ 136% B
gfS @t o g, o Bye & duwa | g wfowe wa
ﬁﬁlﬂl In a triangle base is increased by 18% and height is
increased by 136% then find the percentage increase in area of
triangle?

(a) 78.48% (b) 66.66%

(c) 33.33% (d) 56.25%

55. U qYE ® YUl 3R Afarsii &) T= &1 3quTd 7:6 8,
13 ARETE JUE SIS 3t § e aRvmRasy 78 U
8:5 I AT 8 | 379 Tfe 40 70 WY ® ;M g &, A agg &
geul 3R Afgarsit # W &1 AJud fFam M The
ratio of the number of males and females in a group is 7:6
thirteen females leave the group. As a result, this ratio becomes
8:5. Now, if 40 males join the group, then what will be the ratio
of the number of males and females in the group?

(a) 1;12  (b) 2:1

(c) 1:2 (d) 2:3

56. 59 U A% DI 39D 3ifhd Ted WX 19% P! Y U a4
m%,muss%ﬁméla'\%mmmm afg 39
a¥q T Sifva Hed 42.5 ¥. &? When an article is sold at a
discount of 19% on its marked price, the profit is 53%. What is
the cost price of article if marked price of that article is 42.5 Rs?
(@) 25%. 25Rs (b) 18.5%. 18.5Rs

(c) 23.75Rs (d) 22.5%. 22.5 Rs

57. TP RAYATSR uTd #1 YWTE 2009, 2101 377 2007 31
@ U @ &:\W(%?I%W ﬁ) feam %? The sides of a
triangular park are 200m, 210m and 290m. The area of the park
(in hectares) is-

(@) 2.4 (b) 1.8
() 21 (d) 2.9
15,
58. 52000%. W], ¥  gIffe X W 8 AIE P 3@y & e
TIYRY TS fHa-r %? What is the simple interest on Rs.
o4
13

52000 at per annum for a period of 8 month?
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(a) 350%. 350 Rs. (b) 400%. 400 Rs.

(c) 425%. 425Rs. (d) 375%. 375Rs.

59. U® GPMPR TP a¥g & Aohd Ted UR AU a1H B
TTAd T BT § 3R 3 23% AT Har g1 af D1
qRAfI® ATH UfARIG(ETHAd P 91 TP 3P a) fa-r g2
A shopkeeper wrongly calculates his profit on the selling price of
an article and final it to be 23%. what is his actual profit
percentage (upto one decimal)?

(a) 29.3%  (b) 28.5%

(c) 28.3%  (d) 29.8%

60. 13 oAfaT, Ufafe 42 9 o1 F3F 10 fe-Y A v &l B
RT HR DA ¢ al 26 afe, wlafe 14 62 o1 F3F 30%
Maﬁmﬁﬁﬁﬁwaﬁﬁv 13 persons working 42 hours a
day can complete a work in 10 days. In how many days 26
persons working 14 hours day will complete 30% of work?

. 1
(a) 9 days (b) 5 3 days
1 1
= 4=d
" 6 . days @tz ays

61. 100 HI. T TP <X & Md §, vp EH & =MW &1
3[GTH BT 30° § 3R TN & YR PT ATTHA HIUT 0 T

tanB ==,
W%ﬁ? 3 %Iﬁ@ﬂaﬁvﬁﬁm%? From
the top of a 100 m high tower, the angle of depression of the top
of a pole is 30° and the angle of depression of the foot of the

tan@ ==.

pole is 6, such that What is the height of the pole?
(a) 50(2-v3)HT. 50(2-v3)m
(b) 50(2+v3) Hl. 50(2+v3)m
(c) 100(2+v3) H. 100(2+v3)m
(d) 100(2-v3) H. 100(2-v3)m

AT x 42 =43 T1a° + 2 77 Fifa

62.
(a) 725 (b) 728
(c) 724 (d) 721

63. Tlﬁ sec 7x = cosec (3x—37°) %, o x fPad R %? If sec
7x = cosec (3x—37°), then x equal to —

(a) 9.2 (b) 8.3

(c) 12.7 (d) 7

., Taat-b= 4768 a-h) =  (ash)" - PR T2

(a) 592 (b) 684

(c) 618 (d) 612

65. TP Ute H, faqT o 35% I<iof 3iv 71fora # 63% Srg=itof
1 R aa% A RAwat F ool B, ) e R @t
ﬁm’rﬁﬁﬁﬁ%v In an examination, 35% passed in science and
63% failed in mathematics. If 44% failed in both subjects, what
percentage passed in both subjects?

(a) 10% (b) 31%

(c) 16% (d) 17%

66. Tl TP 3 84 fpHi/der # wfa A Ied! 8, @ g8 3
Tiqer TId R 25 AT 9t 38 A ugTd 81 graif, afe st
I o8 famft/der 81, ot 95 10 e SR A ugadt 1 A s
T B 99 A | forar ar I wHg fRa 82 i a train

runs with the speed of 84 km/hr, it reaches its destination late

by 25 minutes. However, if its speed is 98 km/hr, it is late by 10
minutes only. The right time for the train to cover it journey is —
(a) 60 flFe 60 minutes

(b) 80 flFe 80 minutes

(c) 75 M 75 minutes

(d) 92 THE 92 minutes

67. e TTA 3iBY T} TWAT 4x5251y, 88 A FAUTST &, T (x+y)
&1 |19 foa-r EﬁTIT? If the seven digits number 4x5251y is
divisible by 88, then what will be the value of (x+y)?

(@) 5 (b) 3

(c) 7 (d) 4

68.

Tt (p- 5 (-9 o4 = (e~ )20 - L, T AT A
(a) 2.6 (b) 4.5

(c) 8 (d) 6.1

69.

0.63x0.63x0.63+0.37x0.37x0.37
0.063x0.063+0.037x0.037-0.063%0.037

Ry

(a) 100 (b) 1000

(c) 10 (d) 100000

70. 12 A} BT & T A Y Rraeman Sran § 8k 1.6 At
= & B¢ ial § erer wrar g1 9 W fpan MA(erTym)
T W Ipd %? A sphere of radius 12 cm is melted and recast
into small spheres of radius 1.6 cm each. How many such sphere
can be made? (approx.)

(a) 421 (b) 401

(c) 497 (d) 457

71. -2 far war uig 9 e e F faftm sgef w
e arg & faaror ufoxra +1 gxfar 81 Fusdt o1 aiffs
Y1 PRIS %. B

fafay W a1t =g frammaRis #) 872

The pie chart given below shows the percentage distribution of
annual expenditure on various items of a company. The annual
expenditure of the company is Rs. 81 crores.

How much is the expenditure (in Rs crores) on Miscellaneous
annually?

Miscellaneous/ Salary 15%

24%

Tax 25%

Intarast 20%
Operations 16%

(a) 152 (b) 17.14

(c) 19.44  (d) 18.72

72. < e mar g At sl & Al avgei wR
aife oag & faaror ufosra o g=ifar 31 Su= &1 arffe
Y 81 PRIS T, B

HUH gRT T R HIRYS Sqg(BIS %. H) [ g?

The pie chart given below shows the percentage distribution of
annual expenditure on various items of a company. The annual
expenditure of the company is Rs. 81 crores.

What is the monthly expenditure (in Rs crores) on Operations by
the company?
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Salal '
Miscellaneous/ Y 15%
24%
Tax 25%
Intarast 20%
Operations 16%

(a) 04 (b) 1.08

(c) 1.06 (d) 1.02

73. < faar mar ui o1é v su & Al axgei R
e sag & fyavor ufosra &1 qxifar 81 &=t &1 aiffe
YL PRS T, B

afe fafay &1 12% og@ & MY W TF a1 8, o <&@ & MY
R e =g (FRis 3. W) fpan e

The pie chart given below shows the percentage distribution of
annual expenditure on various items of a company. The annual
expenditure of the company is Rs. 81 crores.

If 12% of Miscellaneous is spent on research of tubes, then how
much is spent (in Rs crores) on research of tubes annually?

Salal :
Miscellaneous/ Y 15%
24%
Tax 25%
Intarest 20%
Operations 16%

(a) 2.3328 (b) 1.3622

(c) 5448 (d) 2.9624

74. R fear war g A v S F AT axget w
e o & fyazor yfa=a &t gxifar 81 Foh &1 arffs
YL PRS T, B

TaTeq R fafdy R a0 o9, e SR ATA R pa g A
e ufersra siftre @2

The pie chart given below shows the percentage distribution of
annual expenditure on various items of a company. The annual
expenditure of the company is Rs. 81 crores.

By what percentage is the total expenditure on Operations and
Miscellaneous more that the total expenditure on Interest and
Salary?

Sala '
Miscellansous/ alary 15%
24%
Tax 25%
Intarest 20%
Operations 18%

(a) 20%  (b) 15%
(c) 8.62%  (d) 128%

75. - fear wan oig 9é v suet & fAftm axgei
aifife sag & fyavor ufosra &) qwifar 81 st &1 arffe
Y1 FIS . Bl

P HTA W $A 9T MR, H U AT A IR BT 60% ¢
gfe fpran 3R F= AT W S IR BT SUTd HURM: 1 : 2
g, @ fe wR oo oqg @RS <. #) fpat gnfiz

The pie chart given below shows the percentage distribution of
annual expenditure on various items of a company. The annual
expenditure of the company is Rs. 81 crores.

Total amount spent on Raw material is 60% of the total amount
spent on Tax. If the ratio of amount of expenditure on Rent and
Raw material is 1 : 2 respectively, the what will be the amount
(in Rs crores) spent on Rent annually?

Salal
Miscellansous/ aan 15%
24%
Tax 25%
Interest 20%
Operations 18%

(a) 3.68 (b) 3.82

(c) 4.22 (d) 6.07

76. In the sentence identify the segment which contains the
grammatical error.

(Q:76-80)

| have never seen such movie in my life. | wouldn’t recommend it
to anyone.

(a) I have never seen such

(b) movie in my life

(c) I'wouldn’t recommend it to anyone

(d) No error

77. The Citizenship (Amendment) Bill will do more damage than
do good if passed without revision.

(a) The Citizenship (Amendment) Bill will do

(b) more damage than do

(c) good if passed without revision

(d) No error

78. Only call me when your cold is unbearable.

(a) Call me only when your cold is unbearable.

(b) Call me when your cold only is unbearable.

(c) Call me when your cold is unbearable only.

(d) No improvement

79. Any person, who has cheated or looted the country, would
be bring to justice, regardless of whether he is within the country
or abroad.

(a) pushed to (b) brought to

(c) alleviatedto (d) no improvement

80. Violence erupted Jamia Millia Islamia
University here on Sunday afternoon as protesters opposing the
amended Citizenship Act clashed with the police.

(a) round (b) along

(c) surrounding (d) around

81. Select the most appropriate word to fill in the blank.

He is always every style of music.

(a) openfor (b) openin

(c) opento  (d) none of these

82. .(QUES:82-86)

In the following passage some words have been deleted. Fill in
the blanks with the help of the alternatives given. Select the
most appropriate option for each blank

Students of the university 1 themselves from the
violence, stressing that their movement 2__  always
been peaceful. Chasing after the protesters, the police entered
the campus and allegedly launched a lathi-charge here as well,
shifting the site of the battle. For several hours, the area outside
the university 3 heavy stone pelting 4
protesters and the police, with loud bangs of tear gas shells
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being heard till 7.30 p.m. Inside the campus, scared students
spoke about police entering the 5 reading room and
mosque. Some shared videos showing damaged window panes.
The students also claimed that several injured protesters had
taken shelter in a hostel.

Select the most appropriate option for blank No.1.

(a) disassociated (b) detach

(c) disassociate (d) break

83. Select the most appropriate option for blank No.2.

(a) has (b) had

(c) are (d) have

84. Select the most appropriate option for blank No.3.

(a) witness (b) captured

(c) ogle (d) witnessed
85. Select the most appropriate option for blank No.4.
(a) at (b) in

(c) between (d) from

86. Select the most appropriate option for blank No.5.

(a) university (b) university’s

(c) universities (d) universitys’

87. Select the most appropriate meaning of the given idiom.
Be glad to see the back of

(a) Be happy to support

(b) Be happy to be behind

(c) Be happy when a person leaves

(d) To get fit and lose fat

88. Select the most appropriate meaning of the given idiom.
Devil’s advocate

(a) An accomplice in crime

(b) Someone who presents a counter-argument

(c) Someone who supports a criminal

(d) A cruel person

89. Select the word which means the same as the group of
words given.

Fear of entering open or crowded places

(a) Agoraphobia (b) Claustrophobia

(c) Homophobia (d) Neophobia

90. Select the word which means the same as the group of
words given.

To free someone or something from a constraint or difficulty
(a) to exterminate (b) to expurgate

(c) to intricate (d) to extricate

91. Select the most appropriate synonym of the given word.
Petrify

(a) Adorn (b) Calm

(c) Curious (d) Harden

92. Select the most appropriate synonym of the given word.
Succulent

(a) Sucking (b) Soft

(c) Juicy (d) Pale

93. Select the most appropriate antonym of the given word.
Celibate

(a) chaste (b) virtuous

(c) promiscuous (d) continent

94. Select the most appropriate antonym of the given word.
Ingestion

(a) gulp  (b) slug

(c) excrete (d) chug

95. Select the wrongly spelt word.

(a) Autumn  (b) Desperate

(c) Reciept  (d) Traffic

96. Select the wrongly spelt word.

(a) Century (b) Finance

(c) Remember (d) Sponser

97. In the following questions, a sentence has been given in
Direct/Indirect speech. Out of the four alternatives suggested,
select the one which best expresses the same sentence in
Indirect/Direct speech.

My uncle says, “Qutub Minar is 73 meter tall.”

(a) My uncle told that Qutub Minar is 73 meter tall.

(b) My uncle tells that Qutub Minar was 73 meter tall.

(c) My uncle tells to me that Qutab Minar is 73 meter tall.

(d) My uncle says that Qutub Minar is 73 meter tall.

98. In the following questions, a sentence has been given in
Active/Passive Voice. Out of the four alternatives suggested,
select the one which best expresses the same sentence in
Passive/Active Voice.

Those strawberries tasted sour.

(a) Those strawberries were sour when they were tasted.

(b) That strawberry was sour when tasted.

(c) Those strawberries were sour when it was tasted.

(d) Those strawberries were sour when tasted.

99. The questions below consist of a set of labelled sentences.
Out of the four options, given. Select the most logical order of
the sentences to form a coherent paragraph.

P- While the Soviet Government bought grain and other foreign
consumer goods to be sold in domestic markets at heavily
subsidized rates, Russia rejected socialism.

Q- The oil industry was the prime target of a sweeping
privatization drive launched after the break-up of the Soviet
Union.

R- The Russian government has failed to do for its people even a
fraction of what the Soviet Union, with twice the population, did
with the revenue generated from oil.

S- However, not all Russian have been rolling in oil wealth.

(a) QSRP (b) PRQS

(c) RQSP  (d) QPRS

100. The questions below consist of a set of labelled sentences.
Out of the four options, given. Select the most logical order of
the sentences to form a coherent paragraph.

P- But the scenario has quite changed now-a-days by allocating a
special budget of funds for security.

Q- In the last ten years, budget towards the development of
military forces is higher when compared to others.

R- India earlier days gave more importance to the development
of industry and less importance to other departments.

S- This is because of the frightening increase in terrorism all
around the world especially emerging after the 9/11 terror
attack in U.S.

(a) PRQS (b) SPQR (c) QSPR (d) RPSQ
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